
6' Single Pedestal Table, In-ground Mount, Diamond

Model # 337S-V6 Instruction Sheet

www.belson.com 17/1/2019 Page 10of

627 Amersale Drive 
Naperville, IL  60563 

Phone: (800) 323-564 
Fax: (630) 897-0573 

sales@belson.com

https://www.belson.com/Classic-Style-Rectangular-Single-Pedestal-Table-with-Diamond-Pattern-Steel
https://www.belson.com/Classic-Style-Rectangular-Single-Pedestal-Table-with-Diamond-Pattern-Steel
https://www.belson.com


www.belson.com Page 2 of 107/1/2019

● O W N E R S  A N D  IN S TA LLE R S  P LE A S E  N O TE  
TH E S E  S A FE TY  W A R N IN G S  A N D  M A K E  U S E  O F  
TH IS  C H E C K LIS T  O N  A  R E G U LA R  B A S IS .

● FO LLO W  IN S TA LLA T IO N  IN S TR U C TIO N S  W H E N
E R E C TIN G  E Q U IP M E N T.

● G R O U N D  S U R FA C E S  A R O U N D  E Q U IP M E N T
S H O U LD  B E  R E S TO R E D  A S  N E E D E D . C O N C R E TE
FO O TIN G S  S H O U LD  N E V E R  B E  E X P O S E D . 
S U R FA C E  D E P TH  S H O U LD  C O M P LY  W ITH  A S TM  
A N D  C P S C  S P E C IF IC A T IO N S .

● C H E C K  FO R  A N D  R E P A IR  D A M A G E  C A U S E D  B Y
W E A R  O R  V A N D A LIS M , A  M A JO R  FA C TO R  IN  
IN JU R Y  C A U S IN G  S ITU A TIO N S .

● A LL  P R O TR U D IN G  B O LTS  S H O U LD  B E  C O V E R E D
O R  C U T O FF  A N D  F IN IS H E D  S M O O TH . S H A R P
E D G E S  O N  P IP E S  S H O U LD  B E  C A P P E D  O R
R E M O V E D . C H E C K  FO R  B E N T, B R O K E N , O R
S E V E R E LY  W O R N  P IP E , A N D  R E P LA C E .

● A LL  E Q U IP M E N T S H O U LD  B E  FR E E  O F  R U S T 
A N D  R E P A IN TE D  W H E N E V E R  N E C E S S A R Y  TO  
D E TE R  R U S TIN G .

● W E  P R O V ID E  O U R  C U S TO M E R S  W ITH  LA Y O U T
S H E E TS  A N D  IN S TA LLA T IO N  IN S TR U C TIO N S .
P LE A S E  K E E P  O N  F ILE  TH E  S P E C IF IC A T IO N S  
S H E E T TH A T C O N TA IN S  TH E  L IS T IN G  O F  E V E R Y  
P A R T U S E D .

● N E V E R  A D D  C O M P O N E N TS  N O T IN TE N D E D  FO R
U S E  W ITH  TH IS  P R O D U C T.

SAFETY WARNINGS & EQUIPMENT INSPECTION

● R E G U LA R  M A IN TE N A N C E  IS  N E C E S S A R Y  IN  
TH IS  A N D  A LL P A R K  A N D  R E C R E A TIO N A L 
E Q U IP M E N T TO  IN S U R E  TH E  S A FE TY  O F  TH E  
U S E R .

● N O TE : P R O P E R  M A IN TE N A N C E  O F  
E Q U IP M E N T R E Q U IR E S  R E G U LA R  
T IG H TE N IN G  O F  A LL B O LTS , N U TS , A N D  
S E TS C R E W S .

● N O TE : R E G U LA R  C H E C K IN G  O F  A LL P A R TS ,
C A S TIN G S , E TC . S H O U LD  B E  M A D E . IF  A  
P A R T IS  B R O K E N  O R  W O R N , IT  S H O U D  B E  
R E P LA C E D  IM M E D IA TE LY .

● C H E C K  TO  B E  S U R E  A LL F ITT IN G S  A R E  
T IG H T A N D  TH A T B A R S  A N D  P IP E S  D O  N O T 
M O V E .

● R E P LA C E  A LL W O R N  S -H O O K S . S -H O O K S  
M U S T B E  C O M P LE TE LY  C LO S E D . FA ILU R E  TO  
C LO S E  S -H O O K S  C A N  R E S U LT  IN  S E R IO U S  
IN JU R Y  TO  TH E  U S E R . N E V E R  R E U S E  S -
H O O K S .

● TE S T  FO R  FR E E  M O V E M E N T O F  S W IN G  
H A N G E R  A N D  O TH E R  M O V IN G  A TTA C H E D  
P A R TS .

● C H E C K  FO R  W O R N  C H A IN S  A N D  R E P LA C E  
TH E M .

● A  S O FT  R E S IL IE N T  S U R FA C E  S H O U LD  B E  
P LA C E D  U N D E R  A LL S W IN G S  E X TE N D IN G  A T  
LE A S T TW IC E  TH E  H E IG H T O F  TH E  TO P  R A IL  
B O TH  FR O N T A N D  B A C K .



5/16" x 1"
Machine Bolt

www.belson.com Page 3 of 107/1/2019

BEFORE ASSEMBLY, PLEASE MAKE SURE ALL FASTENERS ARE INCLUDED.

5/16" Washer

5/16" Kep Nut

7/16" x 5-1/2"
Machine Bolt

3/8" x 4"
Carriage Bolt

7/16" Washer

7/16" Hex Nut

3/8" Washer

3/8" Hex Nut



www.belson.com Page 4 of 107/1/2019

ALSO NEEDED FOR THIS ASSEMBLY WILL BE THE FOLLOWING MATERIALS:

1/2" & 9/16" & 11/16"
Wrench

Tape Measure

1/2" & 9/16" & 11/16"
Socket Wrench

Level



Top & Seats: 11 gauge die formed angle frame 1”x1-7/8” with 3” radius corners.  3/4” #9 steel expanded 
metal.  7 gauge x 1-1/2” flat bar center support and mounting bracket understructure.  Electrically MIG 
welded.

Coating:   Oven fused functionalized polyethylene copolymer-based thermoplastic.  Fluidized bed coating 
application with superior mechanical performance, impact resistance and UV-stability.

Frame: Main support column is 4”x 4”x 11 gauge pre-galvanized structural steel tubing with a 16” x 16” x 1/2” 
surface mount plate.  Arms are fabricated from 3”x 3”x 11 gauge pre-galvanized structural steel tubing 
welded to 1/4” precision punched plates for attachment to the main column and 2”x 2”x 3/16” structural steel 
angle for lateral seat support.  Seat attachment points are 10 gauge precision punched tabs.  Table top 
attachment structure is fabricated from 2”x 2”x 3/16” structural steel angle and top attachment points are 7 
gauge x 1-1/2” steel flat bar.  All electrically MIG welded.

Frame Coating: Electrostatic powder coated application oven cured.

Hardware: All stainless steel hardware fasteners.

Dimensions: Top is 30” wide x 72” long x 30-1/4” high from ground.  Seats are 12” wide x 72” long x 18-
13/16” high from ground.  Overall height is 50-1/4".  Outside to outside dimensions of 67-3/4” x 72”.

www.belson.com Page 5 of 107/1/2019

PRODUCT SPECIFICATIONS

337S-V6
RECTANGULAR INGROUND TABLE



www.belson.com Page 6 of 107/1/2019

COMPONENTS

ITEM NO. PartNo DESCRIPTION Qty.

1 T-V72-T 6' Expanded Top 1

2 337S Post Assembly 1

3  P-V337-72-T 6' 337 Top Vinyl Bracket Assembly 1

4 V337-72-S 337 6' Vinyl Seat Arm Assem 2

5 T-V72-S 6' Expanded  Seat 2

6 33-02-0007 5/16" SS Washer 32

7 33-05-0029 5/16" x 1" Machine Bolt (SS) 16

8 33-03-0012 5/16" Kep Nut (SS) 16

9 33-02-0004 7/16" SS Washer 9

10 33-06-0050 7/16" x 5-1/2" Machine Bolt 4

11 33-01-0006 7/16" Hex Nut (SS) 4

12 33-06-0067 3/8" x 4" Carriage Bolt (Zinc) 4

13 33-02-0008 3/8" Flat Washer (SS) 4

14  33-01-0018 3/8" Hex Nut (SS) 4

10

9

11

4

3

7
6 8

1

14 13

12

2



www.belson.com Page 7 of 107/1/2019

STEP 1

Attach the Bracket Assembly and the Seat Arm Assemblies to 
the 337 Post as shown using specified hardware.

10

9

11
4

3



www.belson.com Page 8 of 107/1/2019

STEP 2

Attach the Seats and Top to the Bracket Assembly and the 
Seat Arms Assemblies as shown using specified hardware.

7

6 8

1

5



 12" 

 12" 

 24" 
 20" 

 18 13/16" 

www.belson.com Page 9 of 107/1/2019

FOOTING

Estimated Required Concrete:
5 - 50lb Bags of Concrete Mix



 30 1/4" 

 18 13/16" 

www.belson.com Page 10 of 107/1/2019

OVERALL DIMENSIONS

 30" 

 12" 

 67 3/4" 

 72" 

Ground
Level

 50 1/4" 


